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FREEM:: #1123

DM2EE
e N B 5E B B —A)LhER N
BI%E B - FIR BI5E AEREATELCIEER | aires e
OF & RALERE (FRT7ILR) — 0.09 — PA-1000
QHMERIEIES — 0.07 — PA-1000
10/5(R) N |ONTTHIELES — 0.09 — PA-1000
DATMERIZ £ — 0.06 — PA-1000
OFREEN 2 —HIEIEIS — 0.07 — PA-1000
OFF &R AER (7 XT7ILER) — 0.07 — PA-1000
QiHMFE RIS E S — 0.08 — PA-1000
5/16(K)EEN  |QNTTHIEIES — 0.10 — PA-1000
DATMERIZ & — 0.07 — PA-1000
ORBEL 5 —IEHS — 0.05 — PA-1000
TEREIEE
— —— BIFENE Os—AR)LhERE e
BI5% B - KR e IR ATEIEBR) | mises .
O ERAIERR (FRAT7ILL) — 0.07 —_ PA-1000
QiHMERIETES — 0.09 — PA-1000
10/3(R)BEN  |ONTTRIEEES — 0.09 — PA-1000
GDATMEIZ & — 0.08 — PA-1000
ORBEIt 2—HIEEIS — 0.08 — PA-1000
OF &R AER (7 XT7ILR) — 0.07 —_ PA-1000
QHMERIETES — 0.08 — PA-1000
4170K) BN |GONTTRIETES — 0.10 — PA-1000
@ATMERIZ & — 0.07 — PA-1000
OFRBENL 2 —HIEIEIS — 0.06 — PA-1000
2/12 (218)
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FREEM:: #1123

R 30LERE
e e B 5E B Ay —AN)LAER e
BI%E B - FIR BI5E AEREATELCIEER | aires e
OF & RALERE (FRT7ILR) — 0.07 — PA-1000
QHMERIEIES — 0.09 — PA-1000
10/3(K)EY  |ONTTHIEIEE — 0.08 — PA-1000
DATMERIZ £ — 0.08 — PA-1000
OFREEN 2 —HIEIEIS — 0.06 — PA-1000
OFF &R AER (7 XT7ILER) — 0.07 — PA-1000
QiHMFE RIS E S — 0.08 — PA-1000
4/1MK)EY  |ONTTHIEEES — 0.08 — PA-1000
DATMERIZ & — 0.08 — PA-1000
OFRBEEN 2 —HIEIEIS — 0.07 — PA-1000
FERR29EE
— —— BIEE (A0 —R)LEHE e
BI5% B - KR e IR ATEIEBR) | mises .
O ERAIERR (FRAT7ILL) — 0.07 —_ PA-1000
QiHMERIETES — 0.08 — PA-1000
10/40K)EY  |ONTTHIEIES — 0.08 — PA-1000
GDATMEIZ & — 0.05 — PA-1000
ORBEIt 2—HIEEIS — 0.07 — PA-1000
OF &R AER (7 XT7ILR) — 0.10 —_ PA-1000
QHMERIETES — 0.10 — PA-1000
417(A)EY  |ONTTHIEIES — 0.10 — PA-1000
GDATMERIZ & — 0.08 — PA-1000
OFRBENL 2 —HIEIEIS — 0.07 — PA-1000
3/12 (218)
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FREEM:: #1123

R 284ERE
e e B 5E B Ay —AN)LAER e
BI%E B - FIR BI5E AEREATELCIEER | aires e
OF & RALERE (FRT7ILR) — 0.11 — PA-1000
QHMERIEIES — 0.09 — PA-1000
10/5(K)BEA  |ONTTHIELES — 0.10 — PA-1000
DATMERIZ £ — 0.08 — PA-1000 FFERBDLOERDEEZEAIE
OFREEN 2 —HIEIEIS — 0.09 — PA-1000
OFF &R AER (7 XT7ILER) — 0.12 — PA-1000
QiHMFE RIS E S — 0.10 — PA-1000
4/21(K)EY  |GNTTHIEEES — 0.12 — PA-1000
@ATMERIZ 4 — — — PA-1000 FFEREBRDI=HRE
OFRBEEN 2 —HIEIEIS — 0.11 — PA-1000
TR274ERE
e N AIEE (R4S —N LR e
BI5% B - KR e IR ATEIEBR) | mises .
O ERAIERR (FRAT7ILL) — 0.11 —_ PA-1000
QiHMERIETES — 0.10 — PA-1000
10/5(A) BN |ONTTRIEIES — 0.10 — PA-1000
@ATMERIZ £ — 0.14 — PA-1000
ORBEIt 2—HIEEIS — 0.11 — PA-1000
OF &R AER (7 XT7ILR) — 0.13 —_ PA-1000
QHMERIETES — 0.10 — PA-1000
4/23(R)BEN  |ONTTHIEEES — 0.10 — PA-1000
@ATMERIZ £ — 0.14 — PA-1000
OFRBENL 2 —HIEIEIS — 0.14 — PA-1000
4/12 (218)
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FREEM:: #1123

TR 264EFE
o _— B 5E B Ay —AN)LAER e
BI%E B - FIR BI5E AEREATELCIEER | aires e
OF & RALERE (FRT7ILR) — 0.13 — PA-1000
QHMERIEIES — 0.11 — PA-1000
1/70K) EBh  |ONTTHIEIES — 0.12 — PA-1000
DATMERIZ £ — 0.13 — PA-1000
OFREEN 2 —HIEIEIS — 0.14 — PA-1000
OFF &R AER (7 XT7ILER) — 0.14 — PA-1000
Q:HFHE RIETH 5 — 0.11 — PA-1000
10/3(%) B |ONTTHRIEIES — 0.11 — PA-1000
DATMERIZ & — 0.16 — PA-1000
OFRBEEN 2 —HIEIEIS — 0.13 — PA-1000
OF &R ALER (7 RXT7ILR) — 0.13 — PA-1000
Q:HFHE RIETH 5 — 0.11 — PA-1000
7/3(R) BB |ONTTHRIEIES — 0.12 — PA-1000
@DATMEAIZ & — 0.16 — PA-1000
OREEIL 2 —RE EIS — 0.14 — PA-1000
OF &R ALER (7 RXT7ILR) — 0.15 — PA-1000
QERE RIS ES — 0.12 — PA-1000
4/10(R)EN  |ONTTHIETES — 0.14 — PA-1000
BDATMERIZ & — 0.13 — PA-1000
OFREEN 2 —REIE — 0.14 — PA-1000
5/12 (18)
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FREEM:: #1123

Rk 254ERE
e e BIEE (Ao —N)LEER) —
BIE B - Kz B 7E #h 2 — 0 i BIE 2 -
OF &FRAER(FRAT7ILR) — 0.14 — PA-1000
S QHRhERIEIES — 0.11 — PA-1000
2/20(K) BEp  |ONTTHIE SIS — 0.11 — PA-1000
@ATMERIZ 4 — 0.13 — PA-1000
OFREEL 2 —aETEIS — 0.11 — PA-1000
OFERALER (FRT7ILL) — 0.14 — PA-1000
Q:HMERIEIES — 0.12 — PA-1000
12/5(R)BEN  |ONTTHIEIES — 0.13 — PA-1000
@DATMERIZ & — 0.16 — PA-1000
OREEL 2 —aETEIS — 0.13 — PA-1000
OFERALER (FRT7ILL) — 0.15 — PA-1000
Q;HMFERIEIES — 0.10 — PA-1000
10/90K) BN |GNTTHIEI =S — 0.11 — PA-1000
@DATMERIZ & — 0.13 — PA-1000
OfREEL > 2—RTETEIS — 0.14 — PA-1000
OFERALER (FRT7ILL) — 0.15 — PA-1000
Q:HMERIEIES — 0.11 — PA-1000
8/8(R)EEN  |ONTTHIELES — 0.14 — PA-1000
@DATMERIZ & — 0.15 — PA-1000
OfFREEN T 2—HEIEIS — 0.17 — PA-1000
OFERALER (FRT7ILL) — 0.16 — PA-1000
Q:HLE R ES — 0.12 — PA-1000
6/6(R)EN |ONTTHEIEIELS — 0.12 — PA-1000
@ATMERIZ 4 — 0.16 — PA-1000
OfFREEN T 2—HEIEIS — 0.14 — PA-1000
OFERALER (FRIT7ILL) — 0.15 — PA-1000
Q:HLE R ES — 0.13 — PA-1000
4/18(K)BEN  |QONTTHIEIES — 0.14 — PA-1000
@ATMERIZ 4 — 0.14 — PA-1000
6/12 (318)
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FRAEM:: 181123

SRERR (FR23~24F %)

T AR 244F B
1% B - F 4z A5 AZE(RATOY—ANEER) | gy s
5cm 50cm 100cm
OFERALER (FRI7ILL) — 0.16 — PA-1000
Q:ERhERIBTES — 0.13 — PA-1000
3/1(K) Bt |ONTTHIEIES — 0.13 — PA-1000
@ATMERIZ 4 — 0.15 — PA-1000
OREEL 2 —hIEiES — 0.15 — PA-1000
OFERALER (FRI7ILL) — 0.15 — PA-1000
Q:ERhERIBTES — 0.15 — PA-1000
2/8(&) N |QNTTHIEIES — 0.16 — PA-1000
@ATMERIZ 4 — 0.19 — PA-1000
OFREEL 24—k ES — 0.16 — PA-1000
OFERALER (FRI7ILL) — 0.16 — PA-1000
X Q:HLERIETES — 0.14 — PA-1000
1 /1‘?(%2)5?%,@ QNTTHIEIE 5 — 0.17 — PA-1000
@ATMERIZ 4 — 0.15 — PA-1000
OFREEL 2 —aIETES — 0.16 — PA-1000
OF&RALER(FRI7ILE) — 0.18 — PA-1000
Q:ERhERIBTELS — 0.14 — PA-1000
12/7(:k) BN |QNTTHIELES —_ 0.14 — PA-1000
@ATMERIZ 4 — 0.16 — PA-1000
OREEAE F—RIETES — 0.19 — PA-1000
O &ERAILERR (FRAT7ILR) — 0.16 — PA-1000
Q:HFERIETE IS — 0.13 — PA-1000
11/13(K) B (QNTTHIEIES — 0.17 — PA-1000
@DATMERIZ & — 0.16 — PA-1000
OREEA 2RI ES — 0.13 — PA-1000
8/12 (318)
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=

AR

SERL4ASEE
1% B - F 4z A5 AZE(RATOY—ANEER) | gy s
5cm 50cm 100cm
OFERALER (FRIT7ILL) — 0.17 — PA-1000
Q:EBhERIBIES — 0.13 — PA-1000
10/4(K) Bh |ONTTHEIEIEIS — 0.14 — PA-1000
@ATMERIZ 4 — 0.20 — PA-1000
OFREE 2 —aETEIS — 0.11 — PA-1000
OFERALER (FRT7ILL) — 0.19 — PA-1000
QHMERIEIES — 0.14 — PA-1000
9/6(K) BN |QONTTHIEIES — 0.14 — PA-1000
@ATMERIZ 4 — 0.16 — PA-1000
OFRBEILE 2—HEES — 0.14 — PA-1000
OFERALER (FRI7ILL) — 0.18 — PA-1000
Q:ERhERIBIES — 0.15 — PA-1000
8/6(A) &Y |QONTTHIEIES — 0.19 — PA-1000
@ATMERIZ 4 — 0.16 — PA-1000
OfREEL > 2—RTETEIS — 0.16 — PA-1000
OFERALER (FRT7ILL) — 0.20 — PA-1000
QMM ERIEIES — 0.17 — PA-1000
7/5(K) &Y |QNTTHIEIEIS — 0.19 — PA-1000
@ATMERIZ 4 — 0.16 — PA-1000
OREEAE F—RIETES — 0.16 — PA-1000
O ERALERR (FRT7ILR) — 0.18 — PA-1000
Q:ERhERIETELS — 0.17 — PA-1000
6/12(:K) £Y |QNTTHIEIES — 0.16 — PA-1000
DATMERIZ £ — 0.17 — PA-1000
OFREEN 2 —HIEIEIS — 0.16 — PA-1000
9/12 (318)
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AR

R 23~ 244
1% B - F 4z A5 AZE(RATOY—ANEER) | gy s
5cm 50cm 100cm
OFERALER (FRIT7ILL) — 0.19 — PA-1000
Q:EBhERIBIES — 0.18 — PA-1000
5/11(&) BN |@NTTHIEIHELS — 0.19 — PA-1000
@ATMERIZ 4 — 0.19 — PA-1000
OFREE 2 —aETEIS — 0.21 — PA-1000
OFERALER (FRT7ILL) — 0.22 — PA-1000
QHMERIEIES — 0.20 — PA-1000
4/16(A) BN |ONTTRIEIELS — 0.28 — PA-1000
@ATMERIZ & — 0.24 — PA-1000
OFREEL 24—k ES — 0.16 — PA-1000
OFERALER (FRI7ILL) — 0.25 — PA-1000
Q:ERhERIBIES — 0.23 — PA-1000
3/13(K) BN |QONTTHIEIES — 0.25 — PA-1000
@ATMERIZ 4 — 0.21 — PA-1000
OfREEL > 2—RTETEIS — 0.20 — PA-1000
OF &FAER(FRAT7ILR) — 0.24 0.24 PA-1000
QMM ERIEIES — 0.22 — PA-1000
2/780K) £Y |ONTTRIEIES — 0.24 — PA-1000
@ATMERIZ 4 — 0.20 — PA-1000
OREEAE F—RIETES — 0.19 — PA-1000
OF &FRAER(FRAT7ILR) — 0.26 0.24 PA-1000
- Q:ERhERIETELS — 0.25 — PA-1000
1 j;%‘;%u QONTTRIE =I5 — 0.24 — PA-1000
@ATMERIZ & — 0.23 — PA-1000
OFREEN 2 —HIEIEIS — 0.21 — PA-1000
10/12 (318)



BHMRAICHEFTOMARERELR

FRAEM:: 181123

SRR 234E
F == > > /=
B E - R 55 45 AR RATOY—IAEE) | gy %
5cm 50c¢m 100cm
127200K) Bh |OF&REALER (FRXT7ILE) — 0.26 0.23 PA-1000
11721(B) Bh | OF&RAERE (FXT7/LE) — 0.26 0.24 PA-1000
10726(K) Bh |OF&RELER (FRXT7ILE) — 0.27 0.24 PA-1000
107190K) £Y |OF ERAER (FRAT7ILE) — 0.27 0.25 PA-1000
10712(K) BBh |OF&RELER (FRXT7ILE) — 0.26 0.24 PA-1000
1076(K) N |(OFEREER(TRAI7ILE) — 0.27 0.23 PA-1000
9.728(K) BN |OFEREALERE(FRXT7ILL) — 0.27 0.24 PA-1000
922(K) £Y |OF&RAIER(FRAI7ILR) — 0.27 0.25 PA-1000
9.7140K) B |OF&REALERE(FRXT7ILE) — 0.28 0.24 PA-1000
9/70k) Bh |OF&EREIER(FTAT7ILE — 0.26 0.26 PA-1000
8.730(k) Bh |OF&RAIER(TRI7ILM — 0.28 0.27 PA-1000
8.724(K) Bh |OF&RALER(FTRI7ILL) — 0.29 0.26 PA-1000
8/170K) Bh |OF&RAIER(TRI7ILE — 0.29 0.27 PA-1000
8100K) Bh |OF&RALER(FRI7ILL) — 0.27 0.26 PA-1000
8.730K) &Y |OFERALER(FTRAI7ILL — 0.28 0.27 PA-1000
1.7210Kk) €Y |OFERAER(TRAI7ILE) — 0.27 0.28 PA-1000
11/12 (318)
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T RE234F B
N: = & S =
B - KR At AZE(RATOY—ANEER) | gy s
5cm 50cm 100cm
7721(KR) Y |OFERALER(TRI7ILE — 0.30 0.28 PA-1000
1/14(K) Bh |(OF&RAER(FRXI7ILN) — 0.33 0.30 RDS-30
77130K) Bh |(OF&RAER(FXI7)LR) — 0.36 0.43 RDS-30
77120K) B |(OF&RAER(FRXI7ILR) — 0.24 0.33 RDS-30
7711(A) Bh |(OF&RAER(7XI7)LR) — 0.30 0.28 RDS-30
1771(R) Y |OF&RALER(ZRI7ILR — 0.36 0.34 RDS-30
776(K) BN |OFERAER(ZFRI7ILR — 0.38 0.34 RDS-30
8/5(K) Y |OF&ERAER(TRI7ILL) — 0.30 0.26 RDS-30
1774(R) Y |OF&RAER(FRI7ILE) — 0.32 0.28 RDS-30
6.730(K) Bh |[(OFERAER(FTRXI7ILL) — 0.39 0.25 RDS-30
6.729(K) BN |(OFEFRAER(FRXI7ILE) — 0.29 0.32 RDS-30
6.728(K) £Y |OFERAIER(FRAI7ILR —_ 0.35 0.35 RDS-30
6.27(A) Y |OF&RAER(FRXI7ILR — 0.41 0.40 RDS-30
6.723(KR) Y |(OFERALER(FTRI7ILL) —_ 0.34 0.35 RDS-30
6.7220k) Y |OFERAIER(FRXI7ILR) — 0.35 0.26 RDS-30
6.721(K) £Y |OFERAIER(FRXI7ILR) — 0.39 0.27 RDS-30
6.20(A) Y |OF&RAIER(FRXI7ILL — 0.34 0.34 RDS-30
6.715(K) £Y |OF&ERALER(FRXT7ILE) — 0.36 0.36 RDS-30
6 /ﬁ?ﬁéu OF ERALERE (7 RAT7ILR) — 0.34 0.27 RDS-30
12/12 (318)



